


Control de la PAS

	Control estricto
	Control habitual
	No control


	Variable
	Eventos %

(IC 95%)
	Eventos 100 

pacientes/año
	Eventos %

(IC 95%)
	 Eventos 100 

Pacientes/año
	Eventos %

(IC 95%)
	 Eventos 100 

Pacientes/año
	p

	Principal
	12,7 

(11,3-14,1)


	4,98
	12,6 

(11,2-14,1)
	4,66
	19,8 

(18,1-21,5)
	7,46
	<0,001

	Mortalidad total
	11,0 

(9,7-12,3)


	4,27
	10,2 

(8,9-11,5)
	3,71
	15,4

(13,8-16,9)
	5,59
	<0,001

	IAM no mortal
	1,3 

(0,8 – 1,8)


	0,50
	1,7 

(1,1-2,2)
	0,61
	3,1 

(2,4-3,8)
	1,14
	=  ,008

	Ictus no mortal
	1,0 

(0,6 -1,4)


	0,38
	1,3 

(0,8-1,8)
	0,48
	2,4 

(1,7-3,0)
	0,89
	= 0,001

	IAM totales


	4,8

(3,9-5,7)
	1,87
	5,1 

(4,1-6,0)
	1,86
	8,5 

(7,3-9,7)
	3,15
	<0,001

	Ictus totales


	1,5 

(1,0-2,0)
	0,59 
	1,7 

(1,1-2,2)
	0,61
	3,2 

(2,5-4,0)
	1,19
	<0,001


